EARAROBEEIERT — 2 N— IBISH —F 2012568168 (£) SE4EWIH

mﬂﬁ%—ﬂﬁ c2=— ESRE R
[AE£] 1% :120,000  ~ 2#&:24,000 ™  33%&:12,000 M  4%&:6,000H ~ 5%&%:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
=7 B4 | Bt 1:21.4 3-3-3-2 |38.2| — 4 463 | BEMEEZ (FRIL)
2 e 54.0 - Lo | Eum
R RYJUZXIX B:a-7v213 RERS
= 5= F7 FH a8 21, -1-1- . — AR (fELL)
2 3| TRAT A AE - 5 4 54.0 ! (211)6 [ R 1 (ﬁg) Kﬂ‘éﬁ%zﬁ "
LZLRA Y E—Y BAE)-XFTO=— ERSAI 1S
- _ =HEA 22, -5-4- 2| - EHBE (@@L
3 4| FITAI2FY— o4 = 1(252>7 3-5-4-4 | 39.2 7 (4_432) THBE (&
RG22 E—T Biky bT4> Rt KE77—L4
= o4 | o 1:23.0 8-8-9-8 |38.8| — 3 475 | AR (HRLL)
4/5|5 O—LIvAA7T 56.0 (11/2) 1) 1= KRR
L:€r/0704 Bh-Fa-L2 BB ANS
IR s 4 4 | EEBF 1:23.3 7-7-6-7 | 39.4| — 5 447 | WL (HBIL)
5189 NHFoL D 56.0 (11/2) (-6) RIEF :
LY Ny THY BIRNLLEA Ha—€

=Xz . ANt _ 3 & (15
EHG AT RELZX 4 — 49 é%}_l%ﬁJ 1:23.4 3-4-4-6 | 39.9 6 474 églﬁtﬁ (&)

QiZhHAI—IR BiL— ELRE— (3/4) QU -Fn
70721 7/=% _/ liks 71/ o 4 E%EEK (172274) 2-2-2-3 [40.5) — | 8 <4+724) ;J\\fi%g (@)
R:RFA4d—K By FifiiEye]
8l1!1 }FU ‘y:{l * “ f 5 g‘J‘_E%?ﬂﬁ 1:(223).8 6-6-6-5 |40.0| — 8 ;1_324) é%égf (f8LL)
L:xF1=T7—Z BINIETLT Y+ 78S
9/8|8 7“)1/—722"7—_}“ B #o4 | R 1:(214).0 9-8-6-9 |40.0| — | 2 (428) gé‘%‘g (@)
Lv—ANF2YLTF— BTIE—FT1F— N=e]
@ 11— F—EBIBML
12=3zr= 3,7,(2,4,6),1,9,5,8
23—4— |3,7,2,6,4,1,9,(5,8)
Y§=3r= 3,7,2,(4,6),(1,8,9) .5
41—F— 3,2,7,4,1,6,9,5,8
0 LRE
-y 2 810M B E 2-3 360M & 2-3-4 1,950
7 B 2 200 | | BB & 2-3 1,050/ | | 3EE 2-3-4 11,040
3 100H
4 420MH

ABICOVWTRDTEEERROODE. TR LIV,



